XCTF-Reverse-ExerciseArea-004-writeup

y4ung F 2019-07-29 20:16:30 % fii 3928 A5

IrRERE: off WERR%E: CTF ReverseEngineering

FRBLFE B . AR E R AR, W5 CC 4.0 BY-SA FRBUHIMNL, #5315 SC AL R A R 1
ASCHERZE: https://blog.csdn.net/qq_35056292/article/details/97676105

FERAL

off ERYCRIZ N

35 i3 EE 0 AT 1
VB E A
0x00 /48

AR S xctfIL By 1 5 v Reverse T 55 DU .

XIEUA S [ code.c3Cf, FATTHE Nz AR, #ihflag. A5 A1) E 2L CIE 5 B R
SLIGIAEE: Vscode

0x01 fi# il i 72

BT IFCICA AR R AT

HE IS EEE AW, XEFHEERFLIZITHIRAE, code.exe paraml param2 param3 ' code.exe NZH(1.
I PN S5 N % 3

F—ANSHAT atoi() BEE & oxcafe HI%E

atoi (%71 ascii to integer)/2 {7147 i e i SRR ) — N R K, SR AETHR LR P A1 I A 8 AE . int atoi(const char *nptr) #5144
LS nptrF £7 8, BT RTI A AR (FInSkE, tabgist) 2. 3 nptrA fEHE B R int BF nptry s £4/7 8,
2Kz ] 0. atoifk FEAF A2 A7 T U 72 77 B 4 plint2 8Y, N 123.45" -> 123

K, AR — DS EL AN . JE o iEflOxcafel i+, 951966, 498 7] 151966.%xx

unsigned int first = atoi(argv[1]); // HFEIFiFHFAint
if (first != excafe) { // 1-##/%: 51966

printf("you are wrong, sorry.\n");

exit(2);
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Get first!
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first = atoi(argv[1]); 1
(first != @xcafe) {
you are wrong, sorr)

printf("Get first!");
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o %1+1. second % 5 ==

o %M2: second % 17 !=8

Je M2 P 4R, second =17 *n+8 (n=0,1,2,3...), Elsecond =8, 25,42, ...
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unsigned int second = atoi(argv|[2
if (second % 5 == 3 || second % 17 != 8
printf("ha, you won't get it!\n"

exit(3
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first = atoi(argv[1]);
oxcafe) {
printf(“you are wrong, sorr
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}
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Get first!
Get second!

printf("Get first!\n");

second = atoi(argv[2]);
(second % 5 3 || second % 17 != 8) { V D:\ctf-learning\reverse-engineering\xctf\ExerciseArea\@o4
printf(“ha, you won't get it!\n");
exit(3);
¥

printf("Get second!\n");
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if (strcmp("h4ckyeu", argv[3 // strcmp, FHEEEG, AEE [ IEX
printf("so close, dude!\n"
exit(4
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